<Ll iS5y S 53 Plant structure and Reproduction

Plants draw nutrients from 2

environments:
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1-Below-ground (soil).
2-Above (air).

o) oa ¥ i1
_(c\}@J\) seV-2

sl Root

olawdl Stems (shoot)

alsY) Leaves

-Nodes: points at which
leaves are attached.
-Internodes: segments
between nodes.
-An axillary bud.
-A terminal bud: located
near the shoot tip.
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-A flattened blade and a
stalk.
-The petiole (Which joins
the leaf to a node).
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1-Fix the plant to soil.
2-Absorbs minerals and
water.
3-Stored organic
nutrients.
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-An axillary bud: form a
lateral shoot or branch.
- A terminal bud: causes
elongation of a young
shoot.
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-Photosynthesis.
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!l Dermal tissue
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zill Vascular tissue
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=il Ground tissue
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-Consists of:
1-Epidermis.
2-Periderm.
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-Consists of: -Transport materials
1-Xylem. 2-Phloem. between shoot and

10 OSE- roots.
sl iall-l _Xylem: Carry water
and mineral upward
(from roots to shoot)
-Phloem: Carry
organic nutrients
from where they
made to where they
needed.
Alead) G 3 gl Ja-
BTXENIE
slall Job rudall-
) sdadl Ga) alaallg
(M)
3 gall JaL relalll-
OlSa (pa Ay guzantl A1 20)
Lalda) lsa ult Ll

Contains types of cells:  -Support.

-Parenchyma. -Photosynthesis.
-Collenchyma. -Storage.
-Sclerenchyma. Al all-
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4l ) Parenchyma
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Schlerenchyma

-Most abundant cells
in plants.
-Spherical and elastic.
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-Thickened cell walls
(contains cellulose)
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-Very thick cell walls
(contains lignin).
haa clias g5l Hlaa-
(o] e s 5ia)

1-Photosynthesis.

2-Storage.
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1-Support.
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1-Support.
2-Protection.
3-Transport.
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48 3 a8 Al Reproduction in Flowering plants
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Stamens (male organ)

opens.

Protect the bud until it

L A oo ) (an

Attract insects and other

pollinators.
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Carpels (female organ)
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Make pollen grains.
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Grow into fruits which
contains seed.
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Pollen grains grow in:
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The anther (in stamens male
organ).
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The anther splits open when:
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Pollen grains are fully grown.
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Carpels (female organ)
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contains of: ParS
1-Stigma. 2-Style. A2 sl
3-Carpel (Ovary). (o) L SN-3
4-Ovules (eggs) a4

A flower is pollinated when:
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A pollen grain moves
(transfers) from stamen (male
organ) to stigma (in Carpels).
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The transferring of pollen
grain is done by:
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Winds, birds and insects.
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There are 2 types of
pollination:

il cpe g3 2

1-Self-pollination. () -]
2-Cross pollination. Jalie madli-
Pollen from the same flower Lsonn A Sl (e sl
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Self-pollination. () eaalil)
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Cross pollination. LJalial) i)




When a pollen grain lands on
the stigma, it germinates and:
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A pollen tube grows down to
an ovule(egg).
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The sperm travels through:
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The pollen tube to the ovule
(egg).
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The union of male and female
gametes (reproductive cells)
to produce a zygote (fertilized

A Y 5 A SA L) Aad) e
sy 3l LY (4 ) Lolal))
o (dadall Ly 5all)

egg) is called:

Fertilization. L addil)
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rest of flowers ------- :

Fruit/seed/ dies.
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The plant embryo uses food
stored in:
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Cotyledon of the seed. 8l dalal)
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New plant. s Gl

There are 2 types of
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cotyledon:
1-Monocots. R\ CRGH PR |
2-Dicots. Ol ol g3-2

Cotyledons differ simply in:
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Leaf veins.
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Monocots have ------- but
dicots have ------- :
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Leaf with parallel veins / leaf Goom A8 )y [ 4 gl (35 m 48 )
with branching veins (net (ASA]) 4,85) de Hita
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Differences between monocots and dicots
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Veins in leaf Flowers part Arrangement
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Monocots Parallel. Multiplies of Scattered.
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(il Dicots  Netlike 40r5. In a ring.
(branching). Adls
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